

Pay Estimate Created Date: December 16, 2020

Progress Es	stimate Number 20	Contract ID Prime Contract	191213-A03 tor Boone Constructi	Pay Period Start on Co. Pay Period End		020 Net Change	Order Amour		
Approval Dat	te							By User	
December 16, 2020			Generated and A	pproved (and should be c	onsidered Draft)	at the Project Of	fice Level by	white	
December 16, 2020		F	Reviewed and Approv	red (and should be consid	lered Draft) at the	e Resident Engin	eer Level by	jacob	
December 17, 2020			R	eviewed and Approved a	t the Central Offi	ce Controllers Of	fice Level by	greggd	
Original C	ompletion Date	Current C	ompletion Date	Actual Completion	% of Current Co	rent Contract Amount Complete			
Decem	ber 1, 2020	Decen	nber 1, 2020	November 13, 20	20		99.84%		
Cont	ract Information	al Dates			Milestones	i			
Date Description	Original Completion Date	Current Completion Date	Date	Description	Original Completion Date	Current Completion Date	Days Remain on Milestor		
Acceptance Date			Milestone - Calence User and Administ	lar Time J1S0447 Road ration Cost	October 5, 2020	October 5, 2020	Miles Comp		
Awarded Date	January 9, 2020	January 9, 2020	Milestone - Calend User and Administ	lar Time J1S0616 Road ration Cost	October 11, 2020	October 11, 2020	Miles Comp		
Letting Date	December 13, 2019	December 13, 2019	Milestone - Calend User and Administ	lar Time J1S3138 Road ration Cost	September 21, 2020	September 21, 2020	Miles Comp		
Notice to Proceed Date	February 10, 2020	February 10, 2020	Milestone - Calence User and Administ	lar Time J1S3139 Road ration Cost	December 13, 2020	December 13, 2020	Miles Comp		
Open to Traffic Date									

Work Began

Date

Contract Total Pay	Contract Total Pay For Estimate No. 20													
		This Estimate	Previous	To Date										
191213-A03														
	Total Posted Items Pay	\$18,281.60	\$2,745,292.21	\$2,763,573.81										
	Gross Item Adjustments	\$4,865.00	(\$4,735.00)	\$130.00										
	Incentive	\$0.00	\$0.00	\$0.00										
	Disincentive	\$0.00	\$0.00	\$0.00										
	Liquidated Damage	\$0.00	(\$25,300.00)	(\$25,300.00)										
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00										
			\$2,715,257.21	\$2,738,403.81										
Contract Total Pay	/able This Estimate:	\$23,146.60												

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J1S0616	0650	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$1.350	408	\$550.80
	0660	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$1.350	408	\$550.80
	0720	8061005	ROCK DITCH CHECK	LF	\$50.000	126	\$6,300.00
Project J18	60616 - To	tal					\$7,401.60
J1S3138	1200	8061019	SILT FENCE	LF	\$2.250	128	\$288.00
	5200	2169901	MISC.Removal of existing piling	LS	\$8,360.000	1	\$8,360.00
Project J18	53138 - Tot	tal					\$8,648.00
J1S3139	1520	6113020	FURNISHING TYPE 2 ROCK BLANKET	CUYD	\$45.000	-51	(\$2,295.00)
	1530	6113040	PLACING TYPE 2 ROCK BLANKET	CUYD	\$20.000	-51	(\$1,020.00)
	1590	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING	LF	\$1.500	375	\$562.50



Pay Estimate Created Date: December 16, 2020

Progress	Estimate 20		Contract ID 191213-A03 Pay Period Start December 2, 2020 Original Contract Amount \$2,795,788.00 Prime Contractor Boone Construction Co. Pay Period End December 15, 2020 Net Change Order Amount \$2,768,020 Current Contract Amount \$2,768,098.80								
Project Number											
J1S3139			PAINT, TYPE P BEADS	PAINT, TYPE P BEADS							
	1600	6206001C	4 IN. YELLOW STANDARD WATERE MARKING PAINT, TYPE P BEADS	BORNE PAVEMENT	F	\$1.500	187	\$280.50			
	1670	8061005	ROCK DITCH CHECK	LF	F	\$50.000	37	\$1,850.00			
	5300	2169901	MISC.Removal of existing concrete st	ructure LS	S \$2	2,854.000	1	\$2,854.00			
Project J18	63139 - To	tal						\$2,232.00			
Overall - T	otal							\$18,281.60			

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustmen amount
J1S0616	0720	ROCK DITCH CHECK	Overrun		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',50.00000 - 50.00000, 'is applied (if non-zero).	22	\$50.00	\$1,100.00
J1S3139	1520	FURNISHING TYPE 2 ROCK BLANKET	Overrun		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',45.00000 - 45.00000, 'is applied (if non-zero).	51	\$45.00	\$2,295.00
	1530	PLACING TYPE 2 ROCK BLANKET	Overrun		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',20.00000 - 20.00000, 'is applied (if non-zero).	51	\$20.00	\$1,020.00
	1670	ROCK DITCH CHECK	Overrun		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',50.00000 - 50.00000, 'is applied (if non-zero).	9	\$50.00	\$450.00
Total								\$4,865.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Contract Project Information
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work
J1S0447	FAS S101(47)	Bridge replacement	46	NODAWAY	over Florida Creek, 0.7 mile west of Rte. AB near Maryville
J1S0616	FAS S101(46)	Bridge replacement	46	NODAWAY	over White Cloud Creek, 2.3 miles east of Rte. AB near Maryville
J1S3138	FAS S101(53)	Bridge replacement	46	NODAWAY	over Stream, 0.8 mile west of Rte. AB near Maryville
J1S3139	FAS S101(540	Bridge replacement	46	NODAWAY	over Big Slough Creek, 3.2 miles east of Rte. AB near Maryville

Totals by Job Numbers

J1S0447		This Estimate	Draviava	To Data
J I SU447	Bastad Itana Basa	This Estimate	Previous	To Date
	Posted Item Pay	\$0.00	\$688,500.35	\$688,500.35
	Gross Item Adjustments	\$0.00	\$50.00	\$50.00
	Gross Item Pay	\$0.00	\$688,550.35	\$688,550.35
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damages	\$0.00	(\$6,292.11)	(\$6,292.11)
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
J1S0616	Г	This Estimate	Previous	To Date
0100010	Posted Item Pay	\$7,401.60	\$752,400.85	\$759,802.45
	Gross Item Adjustments	\$1,100.00	(\$1,100.00)	\$759,802.45
	Gross Item Adjustments Gross Item Pay	\$8,501.60	\$751,300.85	\$0.00 \$759,802.45
	Gross item Pay	\$0,501.00	\$751,300.85	\$759,002.45
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damages	\$0.00	(\$6,942.32)	(\$6,942.32)
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
J1S3138	[This Estimate	Previous	To Date
0100100	Posted Item Pay	\$8.648.00	\$645,998.41	\$654,646.41
	Gross Item Adjustments	\$0,040.00	\$80.00	\$80.00
	Gross Item Pay	\$8.648.00	\$646,078.41	\$654,726.41
	Gross item Pay	\$0,040.00	\$646,078.41	\$054,720.41
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damages	\$0.00	(\$5,953.09)	(\$5,953.09)
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
11 6 2 1 2 0		\$0.00	\$0.00	\$0.00
J1S3139	Other Contract Adjustments	\$0.00 This Estimate	\$0.00 Previous	\$0.00 To Date
J1S3139	Other Contract Adjustments Posted Item Pay	\$0.00 This Estimate \$2,232.00	\$0.00 Previous \$658,392.60	\$0.00 To Date \$660,624.60
J1S3139	Other Contract Adjustments Posted Item Pay Gross Item Adjustments	\$0.00 This Estimate \$2,232.00 \$3,765.00	\$0.00 Previous \$658,392.60 (\$3,765.00)	\$0.00 To Date \$660,624.60 \$0.00
J1S3139	Other Contract Adjustments Posted Item Pay	\$0.00 This Estimate \$2,232.00	\$0.00 Previous \$658,392.60	\$0.00 To Date \$660,624.60
J1S3139	Other Contract Adjustments Posted Item Pay Gross Item Adjustments Gross Item Pay Incentive	\$0.00 This Estimate \$2,232.00 \$3,765.00 \$5,997.00 \$0.00	\$0.00 Previous \$658,392.60 (\$3,765.00) \$654,627.60 \$0.00	\$0.00 To Date \$660,624.60 \$0.00 \$660,624.60 \$0.00 \$0.00
J1S3139	Other Contract Adjustments Posted Item Pay Gross Item Adjustments Gross Item Pay Incentive Disincentive	\$0.00 This Estimate \$2,232.00 \$3,765.00 \$5,997.00 \$0.00 \$0.00	\$0.00 Previous \$658,392.60 (\$3,765.00) \$654,627.60 \$0.00 \$0.00 \$0.00	\$0.00 To Date \$660,624.60 \$0.00 \$660,624.60 \$0.00 \$0.00 \$0.00
J1S3139	Other Contract Adjustments Posted Item Pay Gross Item Adjustments Gross Item Pay Incentive	\$0.00 This Estimate \$2,232.00 \$3,765.00 \$5,997.00 \$0.00	\$0.00 Previous \$658,392.60 (\$3,765.00) \$654,627.60 \$0.00	\$0.00 To Date \$660,624.60 \$0.00 \$660,624.60 \$0.00 \$0.00



Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

ed date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category		Item Code	eport Generated date and can differ from the posted am Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved	Unit Price	Total Value POSTE To Date (See report generated date)
91213-A03	J1S0447	0001	0010	2013000	CLEARING AND GRUBBING	1.00	0.00	1.00	ACRE	Qty 1.00	\$4,500.00	\$4,500.0
		0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$6,000.00	\$6,000.0
		0001	0030	2035000	UNCLASSIFIED EXCAVATION	472.00	0.00	472.00	CUYD	472.00	\$7.00	\$3,304.0
		0001	0040	2035500	EMBANKMENT IN PLACE	2,586.00	0.00	2,586.00	CUYD	2,586.00	\$11.00	\$28,446.0
		0001	0050	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	405.00	0.00	405.00	SQYD	405.00	\$6.25	\$2,531.2
		0001	0060	3105002	GRAVEL (A) OR CRUSHED STONE (B)	66.00	0.00	66.00	TONS	66.00	\$35.00	\$2,310.0
		0001	0070	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	31.00	6.33	37.33	TONS	37.33	\$145.00	\$5,412.8
		0001	0080	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	29.00	1.28	30.28	TONS	30.28	\$225.00	\$6,813.0
		0001	0090	4019905	MISC.OPTIONAL PAVEMENT	300.00	0.00	300.00	SQYD	300.00	\$110.00	\$33,000.0
		0001	0100	4071005	TACK COAT	30.00	10.00	40.00	GAL	40.00	\$5.00	\$200.0
		0001	0110	6113020	FURNISHING TYPE 2 ROCK BLANKET	553.00	72.00	625.00	CUYD	625.00	\$46.50	\$29,062.
		0001	0120	6113040	PLACING TYPE 2 ROCK BLANKET	553.00	72.00	625.00	CUYD	625.00	\$20.00	\$12,500.
		0001	0130	6161005	CONSTRUCTION SIGNS	1,320.00	-25.00	1,295.00	SQFT	1,295.00	\$6.50	\$8,417.
		0001	0140	6161008	ADVANCED WARNING RAIL SYSTEM	8.00	-3.00	5.00	EA	5.00	\$80.00	\$400.
		0001	0150	6161009	FLAG ASSEMBLY	8.00	0.00	8.00	EA	8.00	\$25.00	\$200.
		0001	0160	6161031	TYPE III MOVEABLE BARRICADE WITH LIGHTS	8.00	-1.00	7.00	EA	7.00	\$200.00	\$1,400
		0001	0170	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	5.00	0.00	5.00	EA	5.00	\$3,500.00	\$17,500.
		0001	0180	6181000	MOBILIZATION	1.00	-1.00	0.00	LS	0.00	\$50,000.00	\$0
			0181	6181000	MOBILIZATION	0.00	1.00	1.00	LS	1.00	\$30,104.00	\$30,104
		0001	0190	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	802.00	0.00	802.00	LF	802.00	\$3.00	\$2,406
		0001	0200	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	802.00	0.00	802.00	LF	802.00	\$3.00	\$2,406
		0001	0210	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF	294.00	0.00	294.00	SQYD	294.00	\$34.00	\$9,996
		0001	0220	6240103A	SURFACING (3 IN. THICK OR LESS) PERMANENT EROSION CONTROL GEOTEXTILE	830.00	107.00	937.00	SQYD	937.00	\$2.00	\$1,874
		0001	0230	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$3,000.00	\$3,000
		0001	0240	8051000A	SEEDING - COOL SEASON MIXTURES	1.00	-0.20	0.80	ACRE	0.80	\$2,500.00	\$2,000
		0001	0250	8052000A	SEEDING - WARM SEASON MIXTURES	1.00	-1.00	0.00	ACRE	0.00	\$3,500.00	\$0
		0001	0260	8061016	SEDIMENT REMOVAL	9.00	0.00	9.00	CUYD	0.00	\$25.00	\$0
		0001	0270	8061019	SILT FENCE	885.00	0.00	885.00	LF	885.00	\$2.25	\$1,991
		0001	0280	8061050	TYPE C BERM	240.00	-32.00	208.00	LF	208.00	\$35.00	\$7,280
		0010	0290	6061060	MGS GUARDRAIL	150.00	0.00	150.00	LF	150.00	\$18.00	\$2,700
		0010	0300	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	4.00	\$2,575.00	\$10,300
		0010	0310	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	4.00	\$2,575.00	\$10,300
		0070	0320	2061000	CLASS 1 EXCAVATION	80.00	0.00	80.00	CUYD	80.00	\$21.00	\$1,680
		0070	0330	2160500	REMOVAL OF BRIDGES	1.00	0.00	1.00	LS	1.00	\$25,000.00	\$25,000
		0070	0340	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	111.00	0.00	111.00	SQYD	111.00	\$155.00	\$17,205
		0070	0350	7021316	GALVANIZED CAST-IN-PLACE CONCRETE PILES (16 IN)	753.00	-81.00	672.00	LF	672.00	\$120.00	\$80,640
		0070	0360	7025001	DYNAMIC PILE TESTING	4.00	0.00	4.00	EA	4.00	\$1,000.00	\$4,000
		0070	0370	7027000	PILE POINT REINFORCEMENT	18.00	0.00	18.00	EA	18.00	\$325.00	\$5,850
		0070	0380	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	40.80	0.00	40.80	CUYD	40.80	\$850.00	\$34,680
		0070	0390	7034213	SLAB ON CONCRETE I-GIRDER	346.00	0.00	346.00	SQYD	346.00	\$400.00	\$138,400
		0070	0400	7034215	SAFETY BARRIER CURB	267.00	0.00	267.00	LF	267.00	\$90.00	\$24,030
		0070	0410	7056000	TYPE 2 (32 IN.), PRESTRESSED CONCRETE I-GIRDER	455.00	0.00	455.00	LF	455.00	\$160.00	\$72,800
		0070	0420	7061060	REINFORCING STEEL (BRIDGES)	3,620.00	0.00	3,620.00	LB	3,620.00	\$1.25	\$4,525
		0070	0430	7123610	SLAB DRAIN	20.00	0.00	20.00	EA	20.00	\$300.00	\$6,000



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Note: Posted Q					eport Generated date and can differ from the posted amo	ount at the	e time the	e Estimate w	vas Gen	erated.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
191213-A03	J1S0447	0070	0440	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	2.00	\$1,200.00	\$2,400.00
		0070	0450	7161002	LAMINATED NEOPRENE BEARING PAD	24.00	0.00	24.00	EA	24.00	\$210.00	\$5,040.00
		0001	5001	6189901	MISC.Contract Bond payment from mobilization	0.00	1.00	1.00	LS	1.00	\$19,896.00	\$19,896.00
	Project J	1S0447 - To	otal Value	Posted to D	ate as of Report Generated Date							\$688,500.35
	J1S0616	0001	0460	2013000	CLEARING AND GRUBBING	1.00	0.00	1.00	ACRE	1.00	\$9,000.00	\$9,000.00
		0001	0470	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$5,000.00	\$5,000.00
		0001	0480	2031000	CLASS A EXCAVATION	1,616.00	0.00	1,616.00	CUYD	1,616.00	\$4.25	\$6,868.00
		0001	0490	2035500	EMBANKMENT IN PLACE	2,319.00	0.00	2,319.00	CUYD	2,319.00	\$16.00	\$37,104.00
		0001	0500	2036000	COMPACTING EMBANKMENT	1,430.00	0.00	1,430.00	CUYD	1,430.00	\$3.25	\$4,647.50
		0001	0510	2101006A	SUBGRADE COMPACTION (6-INCH DEPTH)	4.00	-4.00	0.00	100F	0.00	\$1,200.00	\$0.00
		0001	0520	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	325.00	0.00	325.00	SQYD	325.00	\$6.25	\$2,031.25
		0001	0530	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	180.60	-53.72	126.88	TONS	126.88	\$145.00	\$18,397.60
		0001	0540	4013010	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE WIDENING)	23.50	6.49	29.99	TONS	29.99	\$225.00	\$6,747.75
		0001	0550	4071005	TACK COAT	105.00	-22.00	83.00	GAL	83.00	\$5.00	\$415.00
		0001	0560	6096010A	FURNISHING TYPE 1 ROCK DITCH LINER	11.00	-11.00	0.00	CUYD	0.00	\$45.00	\$0.00
		0001	0570	6096041	PLACING TYPE 1 ROCK DITCH LINER	11.00	-11.00	0.00	CUYD	0.00	\$30.00	\$0.00
		0001	0580	6113020	FURNISHING TYPE 2 ROCK BLANKET	219.00	3.00	222.00	CUYD	222.00	\$45.00	\$9,990.00
		0001 0	0590	6113040	PLACING TYPE 2 ROCK BLANKET	219.00	3.00	222.00	CUYD	222.00	\$20.00	\$4,440.00
			0600	6161005	CONSTRUCTION SIGNS	84.00 0.00 2.00 0.00 6.00 -3.00	0.00	84.00	SQFT	84.00		\$546.00
			0610	6161008	ADVANCED WARNING RAIL SYSTEM		0.00	0.00 2.00	EA			\$160.00
		0001	0620	6161030	TYPE III MOVEABLE BARRICADE		3.00	EA	3.00	\$200.00	\$600.00	
		0001	0630	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$50,000.00	\$50,000.00
		0001	0640	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	1.00	0.00	1.00	EA	0.00	\$600.00	\$0.00
		0001	0650	6206000C	PAINT, TYPE P BEADS	2,043.00	0.00	2,043.00	LF	2,043.00	\$1.35	\$2,758.05
		0001	0660	6206001C		2,043.00	0.00	2,043.00	LF	2,043.00	\$1.35	\$2,758.05
		0001	0670	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,015.00	0.00	1,015.00	SQYD	1,015.00	\$12.00	\$12,180.00
		0001	0680	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	328.00	4.00	332.00	SQYD	332.00	\$2.00	\$664.00
		0001	0690	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$3,000.00	\$3,000.00
		0001	0700	8051000A	SEEDING - COOL SEASON MIXTURES	0.50	0.70	1.20	ACRE	1.20	\$5,500.00	\$6,600.00
		0001	0710	8052000A	SEEDING - WARM SEASON MIXTURES	0.60	-0.60	0.00	ACRE	0.00	\$6,000.00	\$0.00
		0001	0720	8061005	ROCK DITCH CHECK	28.00	148.00	176.00	LF	176.00	\$50.00	\$8,800.00
		0001	0730	8061016	SEDIMENT REMOVAL	12.00	0.00	12.00	CUYD	0.00	\$25.00	\$0.00
		0001	0740	8061019	SILT FENCE	929.00	0.00	929.00	LF	929.00	\$2.25	\$2,090.25
		0001	0750	8061050	TYPE C BERM	129.00	0.00	129.00	LF	129.00	\$35.00	\$4,515.00
		0010	0760	6061060	MGS GUARDRAIL	300.00	0.00	300.00	LF	300.00	\$18.00	\$5,400.00
		0010	0770	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	4.00	\$2,575.00	\$10,300.00
		0010	0780	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	4.00	\$2,575.00	\$10,300.00
		0070	0790	2061000	CLASS 1 EXCAVATION	60.00	0.00	60.00	CUYD	60.00	\$21.00	\$1,260.00
		0070	0800	2160500	REMOVAL OF BRIDGES	1.00	0.00	1.00	LS	1.00	\$22,500.00	\$22,500.00
		0070	0810	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	107.00	0.00	107.00	SQYD	107.00	\$155.00	\$16,585.00
		0070	0820	7021316	GALVANIZED CAST-IN-PLACE CONCRETE PILES (16 IN)	1,419.00	11.00	1,430.00	LF	1,430.00	\$100.00	\$143,000.00
		0070	0830	7025001	DYNAMIC PILE TESTING	4.00	0.00	4.00	EA	4.00	\$1,600.00	\$6,400.00
		0070	0840	7025004	DYNAMIC PILE RESTRIKE TESTING	4.00	0.00	4.00	EA	4.00	\$525.00	\$2,100.00
		0070	0850	7027000	PILE POINT REINFORCEMENT	18.00	0.00	18.00	EA	18.00	\$325.00	\$5,850.00
		0070	0860	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	39.20	0.00	39.20	CUYD	39.20	\$1,100.00	\$43,120.00

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Note: Posted Q	uantities				eport Generated date and can differ from the posted am	ount at the	e time the	e Estimate w	vas Gen	erated.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
191213-A03	J1S0616	0070	0870	7034215	SAFETY BARRIER CURB	303.00	0.00	303.00	LF	303.00	\$90.00	\$27,270.00
		0070	0880	7034222	SLAB ON CONCRETE BEAM	411.00	0.00	411.00	SQYD	411.00	\$300.00	\$123,300.00
		0070	0890	7056049	21 IN., PRESTRESSED CONCRETE SPREAD BOX BEAM	406.00	0.00	406.00	LF	406.00	\$310.00	\$125,860.00
		0070	0900	7061060	REINFORCING STEEL (BRIDGES)	3,140.00	0.00	3,140.00	LB	3,140.00	\$1.25	\$3,925.00
		0070	0910	7123610	SLAB DRAIN	24.00	0.00	24.00	EA	24.00	\$300.00	\$7,200.00
		0070	0920	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	2.00	\$1,200.00	\$2,400.00
		0070	0930	7161000	PLAIN NEOPRENE BEARING PAD	6.00	0.00	6.00	EA	6.00	\$200.00	\$1,200.00
		0070	0940	7161002	LAMINATED NEOPRENE BEARING PAD	12.00	0.00	12.00	EA	12.00	\$210.00	\$2,520.00
	Project J	1S0616 - To	otal Value	Posted to D	Date as of Report Generated Date							\$759,802.45
	J1S3138	0001	0950	2013000	CLEARING AND GRUBBING	1.00	0.00	1.00	ACRE	1.00	\$3,000.00	\$3,000.00
		0001	0960	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$9,000.00	\$9,000.00
		0001	0970	2035000	UNCLASSIFIED EXCAVATION	300.00	0.00	300.00	CUYD	300.00	\$11.00	\$3,300.00
		0001	0980	2035500	EMBANKMENT IN PLACE	2,511.00	0.00	2,511.00	CUYD	2,511.00	\$16.00	\$40,176.00
		0001	0990	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	382.00	0.00	382.00	SQYD	382.00	\$6.25	\$2,387.50
		0001	1000	3105002	GRAVEL (A) OR CRUSHED STONE (B)	57.00	0.00	57.00	TONS	57.00	\$35.00	\$1,995.00
		0001	1010	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	57.00	-5.00	52.00	TONS	52.00	\$145.00	\$7,540.00
		0001	1020	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	52.00	-5.44	46.56	TONS	46.56	6 \$225.00	\$10,476.00
		0001	1030	4019905	MISC.OPTIONAL PAVEMENT	206.00	0.00	206.00	SQYD	206.00	\$110.00	\$22,660.00
		0001	1040	4071005	TACK COAT	54.00	16.00	70.00	GAL	70.00	\$5.00	\$350.00
		0001	1050	6113020	FURNISHING TYPE 2 ROCK BLANKET	576.00	-25.00	551.00	CUYD	551.00	\$45.00	\$24,795.00
		0001	1060	6113040	PLACING TYPE 2 ROCK BLANKET	576.00	-25.00	551.00	CUYD	551.00	\$20.00	\$11,020.00
		0001	1070	6161005	CONSTRUCTION SIGNS	173.00	-109.00	64.00	SQFT	64.00	\$6.50	\$416.00
		0001	1080	6161008	ADVANCED WARNING RAIL SYSTEM	8.00	-6.00	2.00	EA	2.00	\$80.00	\$160.00
		0001	1090	6161009	FLAG ASSEMBLY	8.00	-3.00	5.00	EA	5.00	\$25.00	\$125.00
		0001	1100	6161031	TYPE III MOVEABLE BARRICADE WITH LIGHTS	10.00	0.00	10.00	EA	10.00	\$200.00	\$2,000.00
		0001	1110	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$50,000.00	\$50,000.00
		0001	1120	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	932.00	0.00	932.00	LF	932.00	\$2.60	\$2,423.20
		0001	1130	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	932.00	0.00	932.00	LF	932.00	\$2.60	\$2,423.20
		0001	1140	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	536.00	0.00	536.00	SQYD	536.00	\$22.00	\$11,792.00
		0001	1150	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	863.00	-37.00	826.00	SQYD	826.00	\$2.00	\$1,652.00
		0001	1160	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$3,000.00	\$3,000.00
		0001	1170	8051000A	SEEDING - COOL SEASON MIXTURES	1.00	-0.20	0.80	ACRE	0.80	\$2,500.00	\$2,000.00
		0001	1180	8052000A	SEEDING - WARM SEASON MIXTURES	1.00	-1.00	0.00	ACRE	0.00	\$3,500.00	\$0.00
		0001	1190	8061016	SEDIMENT REMOVAL	11.00	0.00	11.00	CUYD	0.00	\$25.00	\$0.00
		0001	1200	8061019	SILT FENCE	1,110.00	128.00	1,238.00	LF	1,238.00	\$2.25	\$2,785.50
		0001	1210	8061050	TYPE C BERM	245.00	-70.00	175.00	LF	175.00	\$35.00	\$6,125.00
		0010	1220	6061060	MGS GUARDRAIL	175.00	0.00	175.00	LF	175.00	\$18.00	\$3,150.00
		0010	1230	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	4.00	\$2,575.00	\$10,300.00
		0010	1240	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	4.00	\$2,575.00	\$10,300.00
		0070	1250	2061000	CLASS 1 EXCAVATION	80.00	0.00	80.00	CUYD	80.00	\$21.00	\$1,680.00
		0070	1260	2160500	REMOVAL OF BRIDGES	1.00	0.00	1.00	LS	1.00	\$25,000.00	\$25,000.00
		0070	1270	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	111.00	0.00	111.00	SQYD	111.00	\$155.00	\$17,205.00
		0070	1280	7021316	GALVANIZED CAST-IN-PLACE CONCRETE PILES (16 IN)	726.00	-59.00	667.00	LF	667.00	\$110.00	\$73,370.00
		0070	1290	7025001	DYNAMIC PILE TESTING	4.00	0.00	4.00	EA	4.00	\$1,000.00	\$4,000.00
		0070	1300	7027000	PILE POINT REINFORCEMENT	18.00	0.00	18.00	EA	18.00	\$325.00	\$5,850.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

lotal ratio / An items / An Estimates (including line seminate) lote: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Note: Posted Q					eport Generated date and can differ from the posted amo	ount at th	e time the	e Estimate v	vas Gen	erated.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
191213-A03	J1S3138	0070	1310	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	40.80	0.00	40.80	CUYD	40.80	\$900.00	\$36,720.00
		0070	1320	7034213	SLAB ON CONCRETE I-GIRDER	319.00	0.00	319.00	SQYD	319.00	\$400.00	\$127,600.00
		0070	1330	7034215	SAFETY BARRIER CURB	249.00	0.00	249.00	LF	249.00	\$90.00	\$22,410.00
		0070	1340	7056000	TYPE 2 (32 IN.), PRESTRESSED CONCRETE I-GIRDER	419.00	0.00	419.00	LF	419.00	\$165.00	\$69,135.00
		0070	1350	7061060	REINFORCING STEEL (BRIDGES)	3,620.00	0.00	3,620.00	LB	3,620.00	\$1.25	\$4,525.00
		0070	1360	7123610	SLAB DRAIN	20.00	0.00	20.00	EA	20.00	\$300.00	\$6,000.00
		0070	1370	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	2.00	\$1,200.00	\$2,400.00
		0070	1380	7161002	LAMINATED NEOPRENE BEARING PAD	24.00	0.00	24.00	EA	24.00	\$210.00	\$5,040.00
		0070	5200	2169901	MISC.Removal of existing piling	0.00	1.00	1.00	LS	1.00	\$8,360.00	\$8,360.00
	Project J1	IS3138 - To	otal Value	Posted to D	ate as of Report Generated Date							\$654,646.40
	J1S3139	0001	1390	2013000	CLEARING AND GRUBBING	1.00	0.00	1.00	ACRE	1.00	\$3,000.00	\$3,000.00
		0001	1400	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$5,000.00	\$5,000.00
		0001	1410	2031000	CLASS A EXCAVATION	552.00	0.00	552.00	CUYD	552.00	\$6.00	\$3,312.00
		0001	1420	2035500	EMBANKMENT IN PLACE	1,617.00	0.00	1,617.00	CUYD	1,617.00	\$16.00	\$25,872.00
		0001	1430	2036000	COMPACTING EMBANKMENT	488.00	0.00	488.00	CUYD	488.00	\$3.25	\$1,586.00
		0001	1440	2101006A	SUBGRADE COMPACTION (6-INCH DEPTH)	5.00	-5.00	0.00	100F	0.00	\$1,000.00	\$0.00
		0001	1450	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	390.00	0.00	390.00	SQYD	390.00	\$6.25	\$2,437.50
		0001	1460	3105002	GRAVEL (A) OR CRUSHED STONE (B)	40.00	0.00	40.00	TONS	40.00	\$35.00	\$1,400.00
		0001	1470	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	185.30	-34.72	150.58	TONS	150.58	\$145.00	\$21,834.10
		0001	1480	4013010	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE WIDENING)	45.40	-29.75	15.65	TONS	15.65	\$225.00	\$3,521.25
		0001	1490	4071005	TACK COAT	127.00	-49.00	78.00	GAL	78.00	\$5.00	\$390.00
		0001	1500	6096010A	FURNISHING TYPE 1 ROCK DITCH LINER	10.00	-10.00	0.00	CUYD	0.00	\$45.00	\$0.00
		0001	1510	6096041	PLACING TYPE 1 ROCK DITCH LINER	10.00	-10.00	0.00	CUYD	0.00	\$30.00	\$0.00
		0001	1520	6113020	FURNISHING TYPE 2 ROCK BLANKET	215.00	79.00	294.00	CUYD	294.00	\$45.00	\$13,230.00
		0001	1530	6113040	PLACING TYPE 2 ROCK BLANKET	215.00	79.00	294.00	CUYD	294.00	\$20.00	\$5,880.00
		0001	1540	6161005	CONSTRUCTION SIGNS	84.00	0.00	84.00	SQFT	84.00	\$6.50	\$546.00
		0001	1550	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	2.00	\$80.00	\$160.00
		0001	1560	6161030	TYPE III MOVEABLE BARRICADE	6.00	0.00	6.00	EA	6.00	\$25.00	\$150.00
		0001	1570	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$50,000.00	\$50,000.00
		0001	1580	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	1.00	0.00	1.00	EA	0.00	\$600.00	\$0.00
		0001	1590	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	1,867.00	0.00	1,867.00	LF	1,867.00	\$1.50	\$2,800.50
		0001	1600	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	1,867.00	0.00	1,867.00	LF	1,867.00	\$1.50	\$2,800.50
		0001	1610	6207001	PAVEMENT MARKING REMOVAL	112.00	-112.00	0.00	LF	0.00	\$7.00	\$0.00
		0001	1620	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,181.00	0.00	1,181.00	SQYD	1,181.00	\$10.00	\$11,810.00
		0001	1630	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	322.00	119.00	441.00	SQYD	441.00	\$2.00	\$882.00
		0001	1640	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$3,000.00	\$3,000.00
		0001	1650	8051000A	SEEDING - COOL SEASON MIXTURES	0.50	0.30	0.80	ACRE	0.40	\$5,500.00	\$2,200.00
		0001	1660	8052000A	SEEDING - WARM SEASON MIXTURES	0.50	-0.50	0.00	ACRE	0.00	\$6,000.00	\$0.00
		0001	1670	8061005	ROCK DITCH CHECK	35.00	46.00	81.00	LF	81.00	\$50.00	\$4,050.00
		0001	1680	8061016	SEDIMENT REMOVAL	13.00	0.00	13.00	CUYD	0.00	\$25.00	\$0.00
		0001	1690	8061019	SILT FENCE	996.00	-791.00	205.00	LF	205.00	\$2.25	\$461.25
		0001	1700	8061050	TYPE C BERM	35.00	44.00	79.00	LF	79.00	\$35.00	\$2,765.00
		0010	1710	6061060	MGS GUARDRAIL	275.00	0.00	275.00	LF	275.00	\$18.00	\$4,950.00
		0010	1720	6061069	MGS BRIDGE APPROACH TRANSITION SECTION	4.00	0.00	4.00	EA	4.00	\$2,575.00	\$10,300.00
					(REGULAR/NO CURB)		0.00	4.00	F A	4.00		
		0010	1730	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	4.00	\$2,575.00	\$10,300.00

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
191213-A03	J1S3139	0070	1740	2061000	CLASS 1 EXCAVATION	60.00	0.00	60.00	CUYD	60.00	\$21.00	\$1,260.00
		0070	1750	2160500	REMOVAL OF BRIDGES	1.00	0.00	1.00	LS	1.00	\$22,500.00	\$22,500.00
		0070	1760	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	107.00	0.00	107.00	SQYD	107.00	\$155.00	\$16,585.00
		0070	1770	7021316	GALVANIZED CAST-IN-PLACE CONCRETE PILES (16 IN)	1,309.00	39.00	1,348.00	LF	1,348.00	\$100.00	\$134,800.00
		0070	1780	7025001	DYNAMIC PILE TESTING	4.00	0.00	4.00	EA	4.00	\$1,600.00	\$6,400.00
		0070	1790	7025004	DYNAMIC PILE RESTRIKE TESTING	4.00	0.00	4.00	EA	4.00	\$525.00	\$2,100.00
		0070	1800	7027000	PILE POINT REINFORCEMENT	10.00	0.00	10.00	EA	10.00	\$325.00	\$3,250.00
		0070	1810	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	43.60	0.00	43.60	CUYD	43.60	\$950.00	\$41,420.00
		0070	1820	7034215	SAFETY BARRIER CURB	228.00	0.00	228.00	LF	228.00	\$90.00	\$20,520.00
		0070	1830	7034222	SLAB ON CONCRETE BEAM	299.00	0.00	299.00	SQYD	299.00	\$350.00	\$104,650.00
		0070	1840	7056049	21 IN., PRESTRESSED CONCRETE SPREAD BOX BEAM	292.00	0.00	292.00	LF	292.00	\$320.00	\$93,440.00
		0070	1850	7061060	REINFORCING STEEL (BRIDGES)	4,230.00	0.00	4,230.00	LB	4,230.00	\$1.25	\$5,287.50
		0070	1860	7123610	SLAB DRAIN	16.00	0.00	16.00	EA	16.00	\$300.00	\$4,800.00
		0070	1870	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	2.00	\$1,200.00	\$2,400.00
		0070	1880	7161000	PLAIN NEOPRENE BEARING PAD	6.00	0.00	6.00	EA	6.00	\$200.00	\$1,200.00
		0070	1890	7161002	LAMINATED NEOPRENE BEARING PAD	12.00	0.00	12.00	EA	12.00	\$210.00	\$2,520.00
		0070	5300	2169901	MISC.Removal of existing concrete structure	0.00	1.00	1.00	LS	1.00	\$2,854.00	\$2,854.00
	Project J	1S3139 - To	otal Value	Posted to D	Date as of Report Generated Date							\$660,624.60
91213-A03 Ove	erall - Total	Value Post	ted to Da	te as of Repo	ort Generated Date							\$2,763,573.80



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project	: J1S0616											
Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0650	6206000C	4 IN. WHITE WATERBORNE PAVEMENT MARKING	12/7/20	12/9/20	408.00	LF	Bridge A 8847, Rte 46, Nodaway County	695+50	Lt and Rt of CL	705+71.72	Rt and Lt of CL	Pay 20% for reflectivity that passed on visual inspection
0660	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	12/7/20	12/9/20	408.00	LF	Bridge A 8847, Rte 46, Nodaway County	695+50	CI	705+71.72	CI	Pay 20% for reflectivity that passed on visual inspection
0720	8061005	ROCK DITCH CHECK	12/9/20	12/15/20	6.00	LF	Bridge A8846, Rte 46, Nodaway County	700+60.00	Lt of Cl			Contractor reinforced existing Rock Ditch Check by extending it 6LF north up the slope of the ditch as a Storm Water Deficiency Correction
			12/15/20	12.00	LF	Bridge A8846, Rte 46, Nodaway County	702+40.86	Lt of Cl			Contractor reinforced existing Rock Ditch Check by extending it 6LF north up the slope and 6LF up the South of the ditch as a Storm Water Deficiency Correction	
				12/15/20	15.00	LF	Bridge A 8846, Rte 46, Nodaway County	701+40.86	LT of CL			Contractor reinforced existing Rock Ditch Check by extending it 15LF up the slope of the ditch to the north and the south as a Storm Water Deficiency Correction
				12/15/20	15.00	LF	Bridge A 8846, Rte 46, Nodaway County	703+15.00	LT of CL			
				12/15/20	25.00	LF	Bridge A 8846, Rte 46, Nodaway County	700+40	Rt of CL			Contractor reinforced existing Rock Ditch Check as a Storm Water Deficiency Correction
				12/15/20	25.00	LF	Bridge A8846, Rte 46, Nodaway County	701+50.00	Lt of CI			Contractor installed additional Rock Ditch Check in the ditch as a Storm Water Deficiency Correction. This Rock Ditch Check runs East and West and was installed in a drainage ditch coming off the field to the north.
				12/15/20	28.00	LF	Bridge A8846, Rte 46, Nodaway County	701+50.00	Lt of Cl			Contractor installed additional Rock Ditch Check in the ditch as a Storm Water Deficiency Correction

Project: J1S3138

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
1200	8061019	SILT FENCE	12/10/20	12/11/20	128.00	LF	Rte 46 See Comments	486+78	Rt of CL	488+06	Rt of CL	The original silt fence installed prior to beginning work on the project from Station 486+78 to Station 488+06 Right of Centerline had to be removed and then replaced in order to construct the slopes according to the plan. This item pays for an additional 128 linear feet of silt fence.
5200	2169901	MISC. REMOVALS	12/15/20	12/16/20	1.00	LS	Bridge A8849 Bent 3 Removal of Existing H-Pile in Conflict with Pile No. 12(See Remarks)	488+62	CL.			During layout of the pile bent for the 16 inch Cast in Place Piling for Intermediate Bent 3 of Bridge A8849, an existin H-Pile previously cut off from the removal of bridge S 0919 was in direct conflict with Pile No. 12 and required removal. This item reimburses the contractor for all work associated in removing and disposing the existing H-Pile, as negotiated, so Intermediate Bent3, Pile No. 12 of Bridge A8849 could be installed as shown on the bridge plans.

Project: J1S3139

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
1520	6113020	FURNISHING TYPE 2 ROCK BLANKET	12/7/20	12/9/20	-51.00	CUYD	Bridge A 8846, Rte 46, Nodaway County					-51 CY Previously paid on 20201008
1530	6113040	PLACING TYPE 2 ROCK BLANKET	12/7/20	12/9/20	-51.00	CUYD	Bridge a 8846, Rte 47, Nodaway County					-51 CY Previously paid on 20201008
1590	6206000C	4 IN. WHITE WATERBORNE PAVEMENT MARKING	12/7/20	12/9/20	375.00	LF	Bridge A8846, Route 46, Nodaway County	686+16.43	Rt and Lt of CL	695+50.00	Rt and Lt of CL	Pay 20% for reflectivity that passed on visual inspection
1600	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	12/7/20	12/9/20	187.00	LF	Bridge A 8846, Route 46, Nodaway County	686+16.43	CL	695+50.00	CI	Pay 20% for reflectivity that passed on visual inspection
1670	8061005	ROCK DITCH CHECK	12/9/20	12/15/20	7.00	LF	Bridge A 8846, Rte 46, Nodaway County	689+70.00	Rt of CL			Contractor reinforced existing Rock Ditch Check by extending it 7LF north and South up the slope of the ditc as a Storm Water Deficiency Correction
				12/15/20	15.00	LF	Bridge A 8846, Rte 46, Nodaway County	688+20	Rt of CL			Contractor installed an additional Rock Ditch Check as a Storm Water Deficiency Correction
				12/15/20	15.00	LF	Bridge A 8846, Rte 46, Nodaway County	689+50	Rt of CL			Contractor installed an additional 15 LF Rock Ditch Check a Storm Water Deficiency Correction
5300	2169901	MISC. REMOVALS	12/15/20	12/16/20	1.00	LS	Bridge A8846 Removal of concrete obstruction at Bent 3	690+78	Lt and Rt of CL.			When the contractor started driving the 16 inch Cast in Place Pille NA 4 on Intermediate Bent 3 of Bridge ABA an obstruction not shown in the plane was encountered that prevented any further penetration at approximately 5 feet below ground line. The contractor stopped all pile driving operations, began excavating an discovered an old existing reinforced concrete structure that was 30 long. 1 foot wide, and 15 foot in depth which had to be removed This item reimburses the contractor for all work associated in removing the Existing Concrete Structure, disposal and backfilling, as negotiated, so pile driving could continued on Intermediate Bent 3 of Bridge AB846.

The information below this line are details from Line Item agency views. No Agency View Details Exist



	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	Type Material	Adjustment Type	Number	Date	Ву		
		Material						
		Matorial		16	Oct 16, 2020	SYSTEM	(\$1,870.00)	
			- Total				(\$1,870.00)	
	Material - Total						(\$1,870.00)	
R	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	MaterialCredit		17	Nov 2, 2020	SYSTEM	\$1,870.00	
ľ			- Total				\$1,870.00	
	MaterialCredit - Total						\$1,870.00	
0050 - T	Fotal						\$0.00	
0070 E	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Overrun	Overrun	17	Nov 2, 2020	SYSTEM	(\$917.85)	
				18	Nov 16, 2020	SYSTEM	\$917.85	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',145.00000 - 145.00000, 'is applied (if non-zero).
			Overrun - To	otal			\$0.00	
¢	Overrun - Total						\$0.00	
0070 - T	Total						\$0.00	
0080 E	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	Overrun	Overrun	16	Oct 16, 2020	SYSTEM	(\$288.00)	
				18	Nov 16, 2020	SYSTEM	\$288.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',225.00000 - 225.00000, 'is applied (if non-zero).
			Overrun - To	otal			\$0.00	
9	Overrun - Total						\$0.00	
0080 - T	Fotal						\$0.00	
0100	TACK COAT	Material		17	Nov 2, 2020	SYSTEM	(\$200.00)	
			- Total				(\$200.00)	
N	Material - Total						(\$200.00)	
	TACK COAT	MaterialCredit		18	Nov 16, 2020	SYSTEM	\$200.00	
	- Total						\$200.00	
N	MaterialCredit - Total						\$200.00	
	TACK COAT	Overrun	Overrun	17	Nov 2, 2020	SYSTEM	\$50.00	SYSGENOFFS
				17	Nov 2, 2020	SYSTEM	(\$50.00)	
				18	Nov 16, 2020	SYSTEM	\$50.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',5.00000 - 5.00000, 'is applied (if non-zero).
			Overrun - To	otal			\$50.00	
¢	Overrun - Total						\$50.00	
0100 - T	Fotal						\$50.00	
0110	FURNISHING TYPE 2 ROCK BLANKET	Overrun	Overrun	16	Oct 16, 2020	SYSTEM	(\$3,348.00)	
				17	Nov 2, 2020	SYSTEM	\$3,348.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',46.50000 - 46.50000, 'is applied (if non-zero).
			Overrun - To	otal			\$0.00	
¢	Overrun - Total						\$0.00	
0110 - Т	Fotal						\$0.00	
0120	PLACING TYPE 2 ROCK BLANKET	Overrun	Overrun	16	Oct 16, 2020	SYSTEM	(\$1,440.00)	
				17	Nov 2, 2020	SYSTEM	\$1,440.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',20.00000 - 20.00000, 'is applied (if non-zero).
			Overrun - To	otal			\$0.00	
	Overrun - Total						\$0.00	
6	E-4-1						\$0.00	
0120 - T	l otal							



Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
		Туре	Adjustment Type	Number	Date	Ву		
0190	WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material			2020			
				18	Nov 16, 2020	SYSTEM	(\$2,406.00)	
			- Total				(\$4,332.00)	
	Material - Total						(\$4,332.00)	
	4 IN. WHITE STANDARD WATERBORNE PAVEMENT	MaterialCredit		18	Nov 16, 2020	SYSTEM	\$1,926.00	
	MARKING PAINT, TYPE P BEADS			19	Dec 1, 2020	SYSTEM	\$2,406.00	
			- Total		1		\$4,332.00	
	MaterialCredit - Total						\$4,332.00	
0190 -	Total						\$0.00	
0200	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT	Material		17	Nov 2, 2020	SYSTEM	(\$1,926.00)	
	MARKING PAINT, TYPE P BEADS			18	Nov 16, 2020	SYSTEM	(\$2,406.00)	
			- Total				(\$4,332.00)	
	Material - Total						(\$4,332.00)	
	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT	MaterialCredit		18	Nov 16, 2020	SYSTEM	\$1,926.00	
	MARKING PAINT, TYPE P BEADS			19	Dec 1, 2020	SYSTEM	\$2,406.00	
			- Total				\$4,332.00	
	MaterialCredit - Total						\$4,332.00	
0200 -	Total						\$0.00	
0220	PERMANENT EROSION CONTROL GEOTEXTILE	Overrun	Overrun	16	Oct 16, 2020	SYSTEM	(\$214.00)	
				17	Nov 2, 2020	SYSTEM	\$214.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',2.00000 - 2.00000, 'is applied (if non-zero).
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0220 -	Total						\$0.00	
0290	MGS GUARDRAIL	Construction Stockpile		3	Apr 1, 2020	SYSTEM	\$549.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				17	Nov 2, 2020	SYSTEM	(\$549.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
0290 -	Total						\$0.00	
0300	MGS BRIDGE APPROACH TRANSITION SECTION	Construction Stockpile		3	Apr 1, 2020	SYSTEM	\$6,148.00	Payment Estimate Item Adjustment generated Stockpile Transaction
	(REGULAR/NO CURB)			17	Nov 2, 2020	SYSTEM	(\$6,148.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
0300 -	Total						\$0.00	
0310	TYPE A CRASHWORTHY END TERMINAL (MASH)	Construction Stockpile		3	Apr 1, 2020	SYSTEM	\$6,124.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				17	Nov 2, 2020	SYSTEM	(\$6,124.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
0310 -	Total						\$0.00	
0540	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE WIDENING)	Overrun	Overrun	16	Oct 16, 2020	SYSTEM	(\$1,460.25)	
				18	Nov 16, 2020	SYSTEM	\$1,460.25	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',225.00000 - 225.00000, 'is applied (if non-zero).



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0540		Overrun	Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0540 -	Total						\$0.00	
0550	TACK COAT	Material		16	Oct 16, 2020	SYSTEM	(\$100.00)	
				17	Nov 2, 2020	SYSTEM	(\$100.00)	
			- Total				(\$200.00)	
	Material - Total						(\$200.00)	
	TACK COAT	MaterialCredit		17	Nov 2, 2020	SYSTEM	\$100.00	
				18	Nov 16, 2020	SYSTEM	\$100.00	
			- Total				\$200.00	
	MaterialCredit - Total						\$200.00	
0550 -	Total						\$0.00	
0580	FURNISHING TYPE 2 ROCK BLANKET	Overrun	Overrun	15	Oct 1, 2020	SYSTEM	(\$225.00)	
				16	Oct 16, 2020	SYSTEM	\$90.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',45.00000 - 45.00000, 'is applied (if non-zero).
				17	Nov 2, 2020	SYSTEM	\$135.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',45.00000 - 45.00000, 'is applied (if non-zero).
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0580 -	Total						\$0.00	
0590	PLACING TYPE 2 ROCK BLANKET	Overrun	Overrun	15	Oct 1, 2020	SYSTEM	(\$100.00)	
				16	Oct 16, 2020	SYSTEM	\$40.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',20.00000 - 20.00000, 'is applied (if non-zero).
				17	Nov 2, 2020	SYSTEM	\$60.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',20.00000 - 20.00000, 'is applied (if non-zero).
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0590 -	Total						\$0.00	
0650	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material		18	Nov 16, 2020	SYSTEM	(\$2,207.25)	
			- Total				(\$2,207.25)	
	Material - Total						(\$2,207.25)	
	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	MaterialCredit		19	Dec 1, 2020	SYSTEM	\$2,207.25	
			- Total				\$2,207.25	
	MaterialCredit - Total						\$2,207.25	
0650 -							\$0.00	
0660	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material		18	Nov 16, 2020	SYSTEM	(\$2,207.25)	
			- Total				(\$2,207.25)	
	Material - Total						(\$2,207.25)	
	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	MaterialCredit		19	Dec 1, 2020	SYSTEM	\$2,207.25	
			- Total				\$2,207.25	
	MaterialCredit - Total						\$2,207.25	
0660 -							\$0.00	
0680	PERMANENT EROSION CONTROL	Overrun	Overrun	16	Oct 16,	SYSTEM	(\$8.00)	
		Systian	Svenul	10	000 10,	STOTLIN	(40.00)	Page 13 of 1



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0680	GEOTEXTILE	Overrun	Overrun		2020			
				17	Nov 2, 2020	SYSTEM	\$8.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',2.00000 - 2.00000, 'is applied (if non-zero).
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0680 -	Total						\$0.00	
0720	ROCK DITCH CHECK	Overrun	Overrun	18	Nov 16, 2020	SYSTEM	(\$1,100.00)	
				20	Dec 16, 2020	SYSTEM	\$1,100.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',50.00000 - 50.00000, 'is applied (if non-zero).
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0720 -	Total						\$0.00	
0760	MGS GUARDRAIL	Construction Stockpile		3	Apr 1, 2020	SYSTEM	\$3,294.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				18	Nov 16, 2020	SYSTEM	(\$3,294.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total MGS GUARDRAIL	Material		18	Nov 16, 2020	SYSTEM	\$0.00 (\$5,400.00)	
			- Total		2020		(\$5,400.00)	
	Material - Total		- 10(a)				(\$5,400.00)	
	MGS GUARDRAIL	MaterialCredit		19	Dec 1, 2020	SYSTEM	\$5,400.00	
			- Total				\$5,400.00	
	MaterialCredit - Total						\$5,400.00	
0760 -							\$0.00	
0770	MGS BRIDGE APPROACH TRANSITION SECTION	Construction Stockpile		3	Apr 1, 2020	SYSTEM	\$6,148.00	Payment Estimate Item Adjustment generated Stockpile Transaction
	(REGULAR/NO CURB)			18	Nov 16, 2020	SYSTEM	(\$6,148.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	Material		18	Nov 16, 2020	SYSTEM	(\$10,300.00)	
			- Total				(\$10,300.00)	
	Material - Total						(\$10,300.00)	
	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	MaterialCredit		19	Dec 1, 2020	SYSTEM	\$10,300.00	
			- Total				\$10,300.00	
	MaterialCredit - Total						\$10,300.00	
0770 -	Total						\$0.00	
0780	TYPE A CRASHWORTHY END TERMINAL (MASH)	Construction Stockpile		3	Apr 1, 2020	SYSTEM	\$6,124.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				18	Nov 16, 2020	SYSTEM	(\$6,124.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
	TYPE A CRASHWORTHY END TERMINAL (MASH)	Material		18	Nov 16, 2020	SYSTEM	(\$10,300.00)	
			- Total				(\$10,300.00)	
	Material - Total						(\$10,300.00)	
	TYPE A CRASHWORTHY END TERMINAL (MASH)	MaterialCredit		19	Dec 1, 2020	SYSTEM	\$10,300.00	



Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
			Туре					
0780		MaterialCredit	- Total				\$10,300.00	
	MaterialCredit - Total						\$10,300.00	
0780 -							\$0.00	
0820	GALVANIZED CAST-IN-PLACE CONCRETE PILES (16 IN)	Overrun	Overrun		Aug 3, 2020	SYSTEM	(\$1,100.00)	
				17	Nov 2, 2020	SYSTEM	\$1,100.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',100.00000 - 100.00000, 'is applied (if non-zero).
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0820 -	Total						\$0.00	
1040	TACK COAT	Material		17	Nov 2, 2020	SYSTEM	(\$350.00)	
			- Total				(\$350.00)	
	Material - Total						(\$350.00)	
	TACK COAT	MaterialCredit		18	Nov 16, 2020	SYSTEM	\$350.00	
			- Total				\$350.00	
	MaterialCredit - Total						\$350.00	
	TACK COAT	Overrun	Overrun	17	Nov 2, 2020	SYSTEM	\$80.00	SYSGENOFFS
				17	Nov 2, 2020	SYSTEM	(\$80.00)	
			18	Nov 16, 2020	SYSTEM	\$80.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',5.00000 - 5.00000, 'is applied (if non-zero).	
			Overrun - T	otal			\$80.00	
	Overrun - Total						\$80.00	
1040 -	Total						\$80.00	
1120	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material		17	Nov 2, 2020	SYSTEM	(\$1,939.60)	
				18	Nov 16, 2020	SYSTEM	(\$2,423.20)	
			- Total				(\$4,362.80)	
	Material - Total						(\$4,362.80)	
	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	MaterialCredit		18	Nov 16, 2020	SYSTEM	\$1,939.60	
				19	Dec 1, 2020	SYSTEM	\$2,423.20	
			- Total				\$4,362.80	
	MaterialCredit - Total						\$4,362.80	
1120 - 1130	4 IN. YELLOW STANDARD	Material		17	Nov 2,	SYSTEM	\$0.00 (\$1,939.60)	
	WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS			18	2020 Nov 16, 2020	SYSTEM	(\$2,423.20)	
			- Total		2020		(\$4,362.80)	
	Material - Total						(\$4,362.80)	
	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT	MaterialCredit		18	Nov 16, 2020	SYSTEM	\$1,939.60	
	MARKING PAINT, TYPE P BEADS			19	Dec 1, 2020	SYSTEM	\$2,423.20	
			- Total				\$4,362.80	
	MaterialCredit - Total						\$4,362.80	
1130 -	Total						\$0.00	
1220	MGS GUARDRAIL	Construction Stockpile		3	Apr 1, 2020	SYSTEM	\$1,098.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				17	Nov 2, 2020	SYSTEM	(\$1,098.00)	Payment Estimate Item Adjustment generated Stockpile Transaction



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
220		Construction Stockpile	- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
220 -	Total						\$0.00	
230	MGS BRIDGE APPROACH TRANSITION SECTION	Construction Stockpile		3	Apr 1, 2020	SYSTEM	\$6,148.00	Payment Estimate Item Adjustment generated Stockpile Transaction
	(REGULAR/NO CURB)			17	Nov 2, 2020	SYSTEM	(\$6,148.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
230 -	Total						\$0.00	
240	TYPE A CRASHWORTHY END TERMINAL (MASH)	Construction Stockpile		3	Apr 1, 2020	SYSTEM	\$6,124.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				17	Nov 2, 2020	SYSTEM	(\$6,124.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
240 -	Total						\$0.00	
1520	FURNISHING TYPE 2 ROCK BLANKET	Overrun	Overrun	18	Nov 16, 2020	SYSTEM	(\$2,295.00)	
				20	Dec 16, 2020	SYSTEM	\$2,295.00	Unit price based on averaged overrun adjustments for installed quanti on all previous payment estimates. Price Adjustments of ',45.00000 - 45.00000, 'is applied (if non-zero).
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
520 -	Total						\$0.00	
530	PLACING TYPE 2 ROCK BLANKET	Overrun	Overrun	18	Nov 16, 2020	SYSTEM	(\$1,020.00)	
				20	Dec 16, 2020	SYSTEM	\$1,020.00	Unit price based on averaged overrun adjustments for installed quanti on all previous payment estimates. Price Adjustments of ',20.00000 - 20.00000, 'is applied (if non-zero).
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
530 -	Total						\$0.00	
1590	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material		18	Nov 16, 2020	SYSTEM	(\$2,238.00)	
			- Total				(\$2,238.00)	
	Material - Total						(\$2,238.00)	
	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	MaterialCredit		19	Dec 1, 2020	SYSTEM	\$2,238.00	
			- Total				\$2,238.00	
	MaterialCredit - Total						\$2,238.00	
1590 -	Total						\$0.00	
1600	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material		18	Nov 16, 2020	SYSTEM	(\$2,520.00)	
			- Total				(\$2,520.00)	
	Material - Total						(\$2,520.00)	
	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	MaterialCredit		19	Dec 1, 2020	SYSTEM	\$2,520.00	
	- Total						\$2,520.00	
	MaterialCredit - Total						\$2,520.00	
16 <u>00</u> -	Total						\$0.00	
1670	ROCK DITCH CHECK		Overrun	18	Nov 16, 2020	SYSTEM	(\$450.00)	
				20	Dec 16, 2020	SYSTEM	\$450.00	Unit price based on averaged overrun adjustments for installed quanti on all previous payment estimates. Price Adjustments of ',50.00000 - 50.00000, 'is applied (if non-zero).



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
1670		Overrun	Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
1670 -	Total						\$0.00	
1700	TYPE C BERM	Overrun	Overrun	17	Nov 2, 2020	SYSTEM	(\$1,540.00)	
				18	Nov 16, 2020	SYSTEM	\$1,540.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',35.00000 - 35.00000, 'is applied (if non-zero).
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
1700 -	Total						\$0.00	
1710	MGS GUARDRAIL	Construction Stockpile		3	Apr 1, 2020	SYSTEM	\$3,019.50	Payment Estimate Item Adjustment generated Stockpile Transaction
				18	Nov 16, 2020	SYSTEM	(\$3,019.50)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
	MGS GUARDRAIL	Material		18	Nov 16, 2020	SYSTEM	(\$4,950.00)	
			- Total				(\$4,950.00)	
	Material - Total						(\$4,950.00)	
	MGS GUARDRAIL	MaterialCredit		19	Dec 1, 2020	SYSTEM	\$4,950.00	
			- Total				\$4,950.00	
	MaterialCredit - Total						\$4,950.00	
1710 -							\$0.00	
1720	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	Construction Stockpile		3	Apr 1, 2020	SYSTEM	\$6,148.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total	18	Nov 16, 2020	SYSTEM	(\$6,148.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
	Construction Stephysile Total		- 10tai				\$0.00	
	Construction Stockpile - Total MGS BRIDGE APPROACH	Matarial		10	Nov 16	OVOTEM		
	TRANSITION SECTION (REGULAR/NO CURB)	Material		18	Nov 16, 2020	SYSTEM	(\$10,300.00)	
			- Total				(\$10,300.00)	
	Material - Total						(\$10,300.00)	
	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	MaterialCredit		19	Dec 1, 2020	SYSTEM	\$10,300.00	
			- Total				\$10,300.00	
	MaterialCredit - Total						\$10,300.00	
1720 -	Total						\$0.00	
1730	TYPE A CRASHWORTHY END TERMINAL (MASH)	Construction Stockpile		3	Apr 1, 2020	SYSTEM	\$6,124.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				18	Nov 16, 2020	SYSTEM	(\$6,124.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
	TYPE A CRASHWORTHY END TERMINAL (MASH)	Material		18	Nov 16, 2020	SYSTEM	(\$10,300.00)	
			- Total				(\$10,300.00)	
	Material - Total						(\$10,300.00)	
	TYPE A CRASHWORTHY END TERMINAL (MASH)	MaterialCredit		19	Dec 1, 2020	SYSTEM	\$10,300.00	
	- Total						\$10,300.00	
	MaterialCredit - Total						\$10,300.00	
1730 -	730 - Total						\$0.00	



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
1770	GALVANIZED CAST-IN-PLACE CONCRETE PILES (16 IN)	Overrun	Overrun	15	Oct 1, 2020	SYSTEM	(\$3,900.00)	
				17	Nov 2, 2020	SYSTEM	\$3,900.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',100.00000 - 100.00000, 'is applied (if non-zero).
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
1770 -	- Total					\$0.00		
Overa	all - Total					\$130.00		